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P = 510510n + 348457
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P = 510510n + 348461

2P + 1 = 2(510510n + 348461) 4+ 1 = 10210201 + 696922 + 1 = 10210201 + 696923
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P = 5105100 + 348487

2P 4+ 1 =2(510510n + 348487) + 1 = 10210201 + 696974 + 1 = 10210201 + 696975
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696995 =5 x 13 x 10723 x 1

oooo
2P +1 = 65(15708n + 10723)

000000006 0000000000000 DOO0ODODOO0DO0ODOODOOODODOODDOD
good

Q=23484990000
P = 510510n + 348499
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oooo
2P + 1 = 3(340340n + 232333)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=3485030000
P = 510510n + 348503
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Q=3485110000
P = 510510n + 348511

2P + 1 = 2(510510n + 348511) 4+ 1 = 10210201 + 697022 + 1 = 10210201 4 697023
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P = 510510n + 348559
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697143 = 3 x 232381 x 1
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P = 5105100 + 348577

2P + 1 = 2(510510n + 348577) 4+ 1 = 10210201 4 697154 + 1 = 10210201 + 697155
0000010210200 20 2003,5,7,11,13,17000000 10000000
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697163 = 239 x 2917 x 1
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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o0obOoboOoos0b0b0bO0ob0U0o0b0obOOobOUobObO0ObUOobOOobDOobO0OOobUobDOobDOoo
goo

Q=348589 0000
P = 5105100 + 348589
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Ooooo 10210200 0000000000000

2P 4+ 1 =510510m + 186713
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Q=3486130000
P = 510510n + 348613

2P 4+ 1 = 2(510510n + 348613) + 1 = 10210200 + 697226 + 1 = 10210200 + 697227
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gbooboobogobooboboobboobooobuooooboon

Q=3486430000
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697367 = 11 x 63397 x 1

oooo
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=349667 0000
P = 5105101 + 349667

2P 4+ 1 =2(510510n + 349667) + 1 = 10210201 + 699334 + 1 = 10210201 + 699335
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oooo
2P + 1 = 455(2244n + 1537)
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Q=349669 0000
P = 510510n + 349669

2P + 1 = 2(510510n + 349669) 4+ 1 = 10210201 4 699338 + 1 = 10210201 4 699339
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Q=349681 0000
P = 510510n + 349681

2P 4+ 1 = 2(510510n + 349681) + 1 = 10210201 4 699362 + 1 = 1021020n + 699363
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good
2P +1 = 357(2860n + 1959)
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Q=349691 0000
P = 510510n + 349691

2P + 1 = 2(510510n + 349691) 4 1 = 10210201 + 699382 + 1 = 10210201 + 699383
0000010210200 20 2003,5,7,11,13,17000000 1000000
699383 = 699383 x 1
0000 10210200000000000000
2P + 1 = 510510m + 188873
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Q=349693 0000
P = 510510n + 349693

2P 4+ 1 =2(510510n + 349693) + 1 = 10210201 + 699386 + 1 = 10210201 + 699387
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Q=349697 0000
P = 510510n + 349697

2P + 1 = 2(510510n + 349697) + 1 = 10210201 4 699394 + 1 = 10210201 + 699395
0000010210200 20 2003,5,7,11,13,17000000 10000000

699395 =5 x 43 x 3253 x 1

oooo
2P + 1 = 5(204204n + 139879)
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Q=3497030000
P = 510510n + 349703

2P + 1 = 2(510510n + 349703) + 1 = 10210201 4 699406 + 1 = 10210201 + 699407
0000010210200 20 2003,5,7,11,13,17000000 1000000

699407 = 23 x 47 x 647 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 188897
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P = 510510n + 349709

2P + 1 =2(510510n + 349709) + 1 = 10210201 + 699418 + 1 = 10210201 + 699419

0000010210200 20 2003,5,7,11,13,17000000 10000000

699419 =7 x 41 x 2437 x 1
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2P + 1 = 7(145860n + 99917)
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Q=3497110000
P = 510510n + 349711

2P + 1 = 2(510510n + 349711) 4 1 = 10210201 + 699422 + 1 = 10210201 + 699423
0000010210200 20 2003,5,7,11,13,17000000 10000000

699423 = 3 x 233141 x 1
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2P + 1 = 3(340340n + 233141)
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Q=3497170000
P = 510510n + 349717

2P 4+ 1 = 2(510510n + 349717) + 1 = 10210200 + 699434 + 1 = 10210201 + 699435
0000010210200 20 2003,5,7,11,13,17000000 10000000

699435 =3 x3x3x3x5x11 x157x1
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2P +1 =165(6188n + 4239)
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Q=3497210000
P = 510510n + 349721

2P + 1 = 2(510510n + 349721) 4 1 = 10210201 + 699442 + 1 = 10210201 + 699443
0000010210200 20 2003,5,7,11,13,17000000 1000000
699443 = 699443 x 1
0000 10210200000000000000
2P + 1 = 510510m + 188933
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g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=3497330000
P = 510510n + 349733

2P + 1 = 2(510510n + 349733) 4+ 1 = 10210201 4 699466 + 1 = 10210201 + 699467
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699467 = 97 x 7211 x 1
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Q=3497470000
P = 5105100 -+ 349747

2P + 1 = 2(510510n + 349747) + 1 = 10210201 4 699494 + 1 = 10210201 + 699495
0000010210200 20 2003,5,7,11,13,17000000 10000000

699495 = 3 x 5 x 46633 x 1
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2P + 1 = 15(68068n + 46633)
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P = 510510n + 349751

2P + 1 =2(510510n + 349751) + 1 = 10210201 + 699502 + 1 = 10210201 + 699503
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2P + 1 = 7(145860n + 99929)
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Q=3497530000
P = 510510n + 349753

2P + 1 =2(510510n + 349753) + 1 = 10210201 + 699506 + 1 = 10210201 + 699507
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699507 =3 x 3 x 77723 x 1
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2P + 1 = 3(340340n + 233169)
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Q=3497570000
P = 510510n + 349757

2P 4+ 1 =2(510510n + 349757) + 1 = 1021020n + 699514 + 1 = 10210201 + 699515
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699515 =5 x 31 x 4513 x 1

oooo
2P + 1 = 5(204204n + 139903)
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Q=3497590000
P = 510510n + 349759

2P + 1 = 2(510510n + 349759) + 1 = 10210201 + 699518 + 1 = 10210201 + 699519
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Q=3497710000
P = 5105100 + 349771

2P + 1 = 2(510510n + 349771) 4+ 1 = 10210201 + 699542 + 1 = 10210201 + 699543
0000010210200 20 2003,5,7,11,13,17000000 10000000

699543 =3 x 3 x 3 x 13 x 1993 x 1

oooo
2P +1 = 39(26180n + 17937)
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Q=3497770000
P = 510510n + 349777

2P + 1 = 2(510510n + 349777) + 1 = 10210201 4 699554 + 1 = 10210201 + 699555
0000010210200 20 2003,5,7,11,13,17000000 10000000

699555 =3 x 5 x 149 x 313 x 1

oooo
2P + 1 = 15(68068n + 46637)
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Q=349781 0000
P = 510510n + 349781

2P 4+ 1 =2(510510n + 349781) + 1 = 10210201 + 699562 + 1 = 10210201 + 699563
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699563 = 59 x 71 x 167 x 1
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Q=3497870000
P = 510510n + 349787

2P + 1 = 2(510510n + 349787) + 1 = 10210201 4 699574 + 1 = 10210201 + 699575
0000010210200 20 2003,5,7,11,13,17000000 10000000

699575 =5 x 5 x 27983 x 1

oooo
2P + 1 = 5(204204n + 139915)
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Q=3497930000
P = 510510n + 349793

2P + 1 = 2(510510n + 349793) + 1 = 10210201 4 699586 + 1 = 10210201 + 699587
0000010210200 20 2003,5,7,11,13,17000000 10000000

699587 =7 x 139 x 719 x 1
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2P + 1 = 7(145860n + 99941)
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Q=349801 0000
P = 510510n + 349801

2P + 1 =2(510510n + 349801) + 1 = 1021020n + 699602 + 1 = 1021020n + 699603
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Q=3498070000
P = 510510n + 349807

2P 4+ 1 =2(510510n + 349807) + 1 = 10210201 + 699614 + 1 = 1021020n + 699615
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699615 =3 x 3 x5 x 7 x 2221 x 1

oooo
2P + 1 = 105(9724n + 6663)
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Q=3498130000
P = 510510n + 349813

2P 4+ 1 =2(510510n + 349813) + 1 = 10210201 + 699626 + 1 = 10210201 + 699627

0000010210200 20 2003,5,7,11,13,17000000 10000000

699627 = 3 x 101 x 2309 x 1

oooo
2P + 1 = 3(340340n + 233209)
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Q=3498190000
P = 510510n + 349819

2P 4+ 1 =2(510510n + 349819) + 1 = 10210201 + 699638 + 1 = 10210201 + 699639
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Q=3498230000
P = 510510n + 349823

2P + 1 = 2(510510n + 349823) + 1 = 10210201 4 699646 + 1 = 10210201 + 699647
0000010210200 20 2003,5,7,11,13,17000000 10000000

699647 = 13 x 53819 x 1

oooo
2P + 1 = 13(78540n + 53819)
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Q=23498290000
P = 510510n + 349829

2P + 1 = 2(510510n + 349829) + 1 = 10210201 + 699658 + 1 = 10210201 + 699659
0000010210200 20 2003,5,7,11,13,17000000 1000000

699659 = 137 x 5107 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 189149
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Q=3498310000
P = 510510n + 349831

2P 4+ 1 =2(510510n + 349831) + 1 = 10210201 + 699662 + 1 = 10210201 + 699663

0000010210200 20 2003,5,7,11,13,17000000 10000000

699663 = 3 x 233221 x 1
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2P + 1 = 3(340340n + 233221)
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Q=3498370000
P = 510510n + 349837

2P + 1 = 2(510510n + 349837) + 1 = 10210201 4 699674 + 1 = 10210201 + 699675
0000010210200 20 2003,5,7,11,13,17000000 10000000

699675 =3 x5 x5 x 19 x491 x 1

oooo
2P + 1 = 15(68068n + 46645)
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P = 510510n + 349841

2P 4+ 1 = 2(510510n + 349841) + 1 = 10210201 4 699682 + 1 = 1021020n + 699683
0000010210200 20 2003,5,7,11,13,17000000 1000000

699683 = 23 x 29 x 1049 x 1
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2P 4+ 1 =510510m + 189173
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Q=3498470000
P = 510510n + 349847

2P 4+ 1 =2(510510n + 349847) + 1 = 10210201 + 699694 + 1 = 10210201 + 699695

0000010210200 20 2003,5,7,11,13,17000000 10000000

699695 = 5 x 139939 x 1

oooo
2P + 1 = 5(204204n + 139939)
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P = 510510n + 349849

2P 4+ 1 = 2(510510n + 349849) + 1 = 10210201 + 699698 + 1 = 10210201 + 699699
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obo0obOoob3o30obooboobooobooobooboboboboooboobOooDbOoo
googn

Q=349859 0000
P = 510510n + 349859

2P + 1 = 2(510510n + 349859) 4+ 1 = 10210201 + 699718 + 1 = 10210201 4 699719
0000010210200 20 2003,5,7,11,13,17000000 1000000
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Q=349861 0000
P = 510510n + 349861

2P + 1 = 2(510510n + 349861) 4+ 1 = 10210201 4 699722 + 1 = 10210201 + 699723
0000010210200 20 2003,5,7,11,13,17000000 10000000

699723 =3 x 3 x 77747 x 1

oooo
2P + 1 = 3(340340n + 233241)
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Q=3498710000
P = 510510n + 349871

2P + 1 =2(510510n + 349871) + 1 = 10210201 + 699742 + 1 = 10210201 + 699743

0000010210200 20 2003,5,7,11,13,17000000 10000000

699743 = 11 x 11 x 5783 x 1

oooo
2P + 1 =11(92820n + 63613)
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Q=3498730000
P = 510510n + 349873

2P + 1 = 2(510510n + 349873) + 1 = 10210201 4 699746 + 1 = 10210201 + 699747
0000010210200 20 2003,5,7,11,13,17000000 10000000

699747 = 3 x 41 x 5689 x 1
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2P + 1 = 3(340340n + 233249)
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Q=349879000 0
P = 510510n + 349879

2P 4+ 1 = 2(510510n + 349879) + 1 = 10210201 4 699758 + 1 = 1021020n + 699759
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 3(340340n + 233253)
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Q=349883 0000
P = 510510n + 349883

2P + 1 = 2(510510n + 349883) + 1 = 10210201 4 699766 + 1 = 10210201 + 699767
0000010210200 20 2003,5,7,11,13,17000000 1000000
699767 = 699767 x 1
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2P + 1 = 510510m + 189257
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Q=349891 0000
P = 510510n + 349891

2P + 1 = 2(510510n + 349891) 4 1 = 10210201 + 699782 + 1 = 10210201 + 699783
0000010210200 20 2003,5,7,11,13,17000000 10000000

699783 =3 x 7 x 47 x 709 x 1

oooo
2P + 1 = 21(48620n + 33323)
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Q=349897 0000
P = 5105100 + 349897

2P + 1 = 2(510510n + 349897) 4+ 1 = 10210201 4 699794 + 1 = 10210201 + 699795
0000010210200 20 2003,5,7,11,13,17000000 10000000

699795 =3 x 3 x 5 x 15551 x 1

oooo
2P + 1 = 15(68068n + 46653)
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Q=349901 0000
P = 510510n + 349901

2P + 1 =2(510510n + 349901) + 1 = 10210201 + 699802 + 1 = 10210201 + 699803

0000010210200 20 2003,5,7,11,13,17000000 10000000

699803 = 13 x 53831 x 1
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2P + 1 = 13(78540n + 53831)
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Q=349903 0000
P = 510510n + 349903

2P + 1 = 2(510510n + 349903) + 1 = 10210201 4 699806 + 1 = 10210201 + 699807
0000010210200 20 2003,5,7,11,13,17000000 10000000

699807 = 3 x 89 x 2621 x 1
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2P + 1 = 3(340340n + 233269)
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Q=349907000 0
P = 510510n + 349907

2P 4+ 1 = 2(510510n + 349907) + 1 = 10210201 + 699814 + 1 = 10210201 + 699815
0000010210200 20 2003,5,7,11,13,17000000 10000000

699815 =5 x 67 x 2089 x 1
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2P + 1 = 5(204204n + 139963)
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Q=3499130000
P = 510510n + 349913

2P + 1 = 2(510510n + 349913) + 1 = 10210201 4 699826 + 1 = 10210201 + 699827
0000010210200 20 2003,5,7,11,13,17000000 1000000
699827 = 19 x 36833 x 1
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2P + 1 = 510510m + 189317
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P = 510510n + 349919

2P 4+ 1 =2(510510n + 349919) + 1 = 10210201 + 699838 + 1 = 10210201 + 699839
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P = 510510n + 349927

2P + 1 = 2(510510n + 349927) 4+ 1 = 10210201 4 699854 + 1 = 10210201 + 699855
0000010210200 20 2003,5,7,11,13,17000000 10000000

699855 =3 xHx 13 x37x97x1
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2P + 1 = 195(5236n + 3589)
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Q=3499310000
P = 510510n + 349931

2P + 1 = 2(510510n + 349931) + 1 = 10210201 + 699862 + 1 = 10210201 + 699863
0000010210200 20 2003,5,7,11,13,17000000 1000000

699863 = 699863 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 189353
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P = 510510n + 349933

2P + 1 =2(510510n + 349933) + 1 = 10210201 + 699866 + 1 = 10210201 + 699867
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Q=3499390000
P = 510510n + 349939

2P + 1 = 2(510510n + 349939) 4 1 = 10210201 + 699878 + 1 = 10210201 + 699879
0000010210200 20 2003,5,7,11,13,17000000 10000000

699879 = 3 x 233293 x 1

oooo
2P + 1 = 3(340340n + 233293)
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Q=23499490000
P = 510510n + 349949

2P 4+ 1 = 2(510510n + 349949) + 1 = 10210201 4 699898 + 1 = 1021020n + 699899
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